Top of Form

[image: image1.wmf]

M106NT6P0009V


	[image: image2.png]



	BHARATH HEAVY ELECTRICAL LIMITED
RAMACHANDRAPURAM 
HYDRABAD-502032
ANDHRA  PRADESH, INDIA 
	Phones: 3021902,3307353                   
Telex  : 425-6212,6248,6777,6778,                                           0422-240 
Fax     : 009-040-0321910,3021954,3020195 
	ENQUIRY

	
	
	
	PURCHASE DEPARTMENT


	SUPPLIER CODE
Name&Address  
 





 
	Enquiry No.
M106NT6P0009VG1
	Enq. Date
27-SEP-06
	No. of. Items
024
	DUE DATE OF QUOTATION
12-OCT-06

	
	
	
	
	


	


	Enq. Sl.No
	Indent (MPR) No.
	Material  Code
	Drawing No. Description& Specification
	Unit Code
	Unit
	Quantity
	Delivery Schedule

	
	
	
	
	
	
	
	Date
	Quantity

	001
	NT6P0009
001

	HY8470478222
	MOTORISED LUBRICATION UNIT, DISCHARGE:1LPM, PR.ST. 20KG/CM.SQ. RESERVOIR:5LT.POLY CARBONATE/ALU. MOTORISED LUBRICATION UNIT, DISCHARGE:1LPM, PR.STG. 20KG/CM.SQ. RESERVOIR:5LTR,WITH MOTOR 0.12KW,415V,3PHASE ,1500RPM,PR.SWITCH SETTING 15KG/CM.SQ,
	06
	SET
	10.000
	01-OCT-06
10.000


	002
	NT6P0009
002

	HY8470478265
	POLY CORB MOTRSD LUB UNIT RSRV CPCT 8LTRS DSC PUMP 2.5 LPM,MTR 415V 3PH 1500RPM 0.18KW PRPOLY CORB/ALU. MOTRSD LUB UNIT, RSRV CAPACITY 8LTRS, PUMP DISCH. 2.5 LPM , WITH MOTOR 415V, 3PH ,1500RPM 0.18KW,RELIFE VALVE PR.SETTING 25 KG/CM SQ,PR.SWITCH SETTING18 KG/CM SQ.
	06
	SET
	6.000
	01-OCT-06
6.000


	003
	NT6P0009
003

	HY8470470019
	MOTOR PUMP ASLY WITH BRKT MTR TRNG 0.25HP 415V 1500RPM PUMP CAP 1LPM MAX PR 15KG/CMMOTOR PUMP ASLY WITH L BRKT MOTOR RATING , 415V, ,PUMP CAPACITY 1 LPM, MAX PR 15KG/CM SQ. SPEC:NA REV:00 AMND: VAR:00 DRG:NA VAR:00 REV:00
	06
	SET
	10.000
	01-OCT-06
10.000


	004
	NT6P0009
004

	HY8470470027
	MOTOR PUMP ASLY WITH L BRKT MTR RAT 0.25HP 415V 1500RPM PIMP CAP 4LPM MA PR 10KG/CMMOTOR PUMP ASLY WITH L BRKT MOTOR RATING , 415V , PUMP CAPACITY 4 LPM MAX. PR. 10 KG/CM SQ. SPEC:NA REV:00 AMND: VAR:00 DRG:NA VAR:00 REV:00
	06
	SET
	5.000
	01-OCT-06
5.000


	005
	NT6P0009
005

	HY8470470035
	MOTOR PUMP ASLY WITH L BRKT MTR RAT 1HP 415V 1500RPM PUMP CAP 10LPM MAX PR 15KG/CMMOTOR PUMP ASLY WITH L BRKT MOTOR RATING, 415V, PUMP CAPACITY 10 LPM ,MAX. PR. 15 KG/CM SQ. SPEC:NA REV:00 AMND: VAR:00 DRG:NA VAR:00 REV:00
	06
	SET
	10.000
	01-OCT-06
10.000


	006
	NT6P0009
006

	HY8470470043
	MOTOR PUMP ASLY WITH L BRKT MOTOR RAT 1.5 HP 415V 1500RPM PUMP RAT 25LPM 10KG/SQ CMMOTOR PUMP ASLY WITH L BRKT MOTOR RATING 415V, PUMP CAPACITY 25 LPM,MAX.PR. 10KG/CM SQ . SPEC:NA REV:00 AMND: VAR:00 DRG:NA VAR:00 REV:00
	06
	SET
	6.000
	01-OCT-06
6.000


	007
	NT6P0009
007

	HY8470746510
	HAND PUMP RESRVOIR CAP 600CC DISCH PR STROKE 6HAND PUMP RESRVOIR CAP 600CC DISCH PR STROKE 6 SPEC:NA REV:00 AMND: VAR:00 DRG:NAA VAR:00 REV:00
	01
	NOS
	2.000
	01-OCT-06
2.000


	008
	NT6P0009
008

	HY8470470051
	BANTO ASSLY M10 X 1, SUIT FOR TUBE 6MM OD LENGTH 38BANJO ASSLY M10 X 1, SUITABLE FOR TUBE 6MM OD, LENGTH 38 SPEC:NA REV:00 AMND: VAR:00 DRG:NA VAR:00 REV:00
	06
	SET
	6.000
	01-OCT-06
6.000


	009
	NT6P0009
009

	HY8470470060
	BANTO ASSLY 1/8" BSP, FOR TUBE 6MM OD L=38BANJO ASSLY 1/8" BSP, FOR TUBE 6MM OD, L=38 SPEC:NA REV:00 AMND: VAR:00 DRG:NA VAR:00 REV:00
	06
	SET
	6.000
	01-OCT-06
6.000


	010
	NT6P0009
010

	HY8470470078
	BANTO ASSLY 1/8" BSP FOR TUBE OD=6MM L=38BANJO ASSLY 1/4" BSP SUITABLE FOR TUBE OD=6MM, L=40 SPEC:NA REV:00 AMND: VAR:00 DRG:NA VAR:00 REV:00
	06
	SET
	6.000
	01-OCT-06
6.000


	011
	NT6P0009
011

	HY8470470582
	CROSS BLOCK FOR 6MM OD POLATECROSS BLOCK FOR 6MM OD PIPE,H=55 SPEC:NA REV:00 AMND: VAR:00 DRG:NA VAR:00 REV:00
	06
	SET
	6.000
	01-OCT-06
6.000


	012
	NT6P0009
012

	HY8470476513
	DUMMY PLUG M8X1 WITH COPPER WASHERDUMMY PLUG M8X1 WITH COPPER WASHER SPEC:NA REV:00 AMND:00 VAR:00 DRG: VAR:00 REV:00
	06
	SET
	24.000
	01-OCT-06
24.000


	013
	NT6P0009
013

	HY8470476521
	DUMMY PLUG M10X1 WITH COPPER WASHERDUMMY PLUG M10X1 WITH COPPER WASHER SPEC:NA REV:00 AMND:00 VAR:00 DRG: VAR:00 REV:00
	06
	SET
	24.000
	01-OCT-06
24.000


	014
	NT6P0009
014

	HY8470471023
	METERING CATRIDGE L50, PORT SIZE M8X1, DOSAGE 0.01CC, CENTRALISED LUB.SYSTEMMETERING CATRIDGE L50, PORT SIZE M8X1, DOSAGE 0.01CC, SPEC:NA REV:00 AMND:00 VAR:00 DRG: VAR:00 REV:00
	01
	NOS
	24.000
	01-OCT-06
24.000


	015
	NT6P0009
015

	HY8470471031
	METERING CATRIDGE L50, PORT SIZE M8X1, DOSAGE 0.03CC, CENTRALISED LUB.SYSTEMMETERING CATRIDGE L50, PORT SIZE M8X1, DOSAGE 0.03CC, SPEC:NA REV:00 AMND:00 VAR:00 DRG: VAR:00 REV:00
	01
	NOS
	24.000
	01-OCT-06
24.000


	016
	NT6P0009
016

	HY8470471040
	METERING CATRIDGE L50, PORT SIZE M8X1, DOSAGE 0.05CC, CENTRALISED LUB.SYSTEMMETERING CATRIDGE L50, PORT SIZE M8X1, DOSAGE 0.05CC, SPEC:NA REV:00 AMND:00 VAR:00 DRG: VAR:00 REV:00
	01
	NOS
	24.000
	01-OCT-06
24.000


	017
	NT6P0009
017

	HY8470471074
	METERING CATRIDGE L58, PORT SIZE M8X1, DOSAGE 0.25CC, CENTRALISED LUB.SYSTEMMETERING CATRIDGE L58, PORT SIZE M8X1, DOSAGE 0.25CC SPEC:NA REV:00 AMND:00 VAR:00 DRG: VAR:00 REV:00
	01
	NOS
	24.000
	01-OCT-06
24.000


	018
	NT6P0009
018

	HY8470471082
	METERING CATRIDGE L58, PORT SIZE M8X1, DOSAGE 0.40CC, CENTRALISED LUB.SYSTEMMETERING CATRIDGE L58, PORT SIZE M8X1, DOSAGE 0.40CC. SPEC:NA REV:00 AMND:00 VAR:00 DRG: VAR:00 REV:00
	01
	NOS
	24.000
	01-OCT-06
24.000


	019
	NT6P0009
019

	HY8470471090
	METERING CATRIDGE L70, PORT SIZE M10X1, DOSAGE 1.00CC, CENTRALISED LUB.SYSTEMMETERING CATRIDGE L70, PORT SIZE M10X1, DOSAGE 1.00CC. SPEC:NA REV:00 AMND:00 VAR:00 DRG: VAR:00 REV:00
	01
	NOS
	24.000
	01-OCT-06
24.000


	020
	NT6P0009
020

	HY8470471104
	METERING CATRIDGE L70, PORT SIZE M10X1, DOSAGE 1.60CC, CENTRALISED LUB.SYSTEMMETERING CATRIDGE L70, PORT SIZE M10X1, DOSAGE 1.60CC, SPEC:NA REV:00 AMND:00 VAR:00 DRG: VAR:00 REV:00
	01
	NOS
	24.000
	01-OCT-06
24.000


	021
	NT6P0009
021

	HY8470475088
	MANIFOLD M10 X 1, LENGTH=140MMMANIFOLD M10 X 1, LENGTH=140MM SPEC:NA REV:00 AMND: VAR:00 DRG:NA VAR:00 REV:00
	01
	NOS
	6.000
	01-OCT-06
6.000


	022
	NT6P0009
022

	HY8470470086
	BANJO ASSLY M8X1, L=33, SUITABLE FOR TUBE OD 4MMBANJO ASSLY M8X1, L=33, SUITABLE FOR TUBE OD 4MM SPEC:NA REV:00 AMND: VAR:00 DRG:NA VAR:00 REV:00
	06
	SET
	50.000
	01-OCT-06
50.000


	023
	NT6P0009
023

	HY8470470094
	BANJO ASSLY 1/8"BSP, L=35, SUITALE FOR TUBE OD 4MMBANJO ASSLY 1/8"BSP, L=35, SUITALE FOR TUBE OD 4MM SPEC:NA REV:00 AMND: VAR:00 DRG:NA VAR:00 REV:00
	01
	NOS
	50.000
	01-OCT-06
50.000


	024
	NT6P0009
024

	HY8470470108
	BANJO ASSLY M10X1 L=35, SUITABLE FOR TUBE OD 4MMBANJO ASSLY M10X1 L=35, SUITABLE FOR TUBE OD 4MM SPEC:NA REV:00 AMND: VAR:00 DRG:NA VAR:00 REV:00
	01
	NOS
	50.000
	01-OCT-06
50.000



	Remarks: 
KINDLY SUBMIT YOUR OFFER IN TWO PART BID ALONG WITH OUR ENCLOSED STANDARD TERMS AND CONDITIONS DULY FILLED,SIGNED,AND STAMPED.
	  TEST CERTIFICATE REQ: YES 
             GUARANTEE RAQ: YES                      
                       SAMPLE REQ: NO 
	For and on-behalf of  
Bharat  Heavy Electricals Limited 

GOPALAKRISHNA MURTHY V
SR MANAGER / PURCHASE D & S


  

Bottom of Form

_1221388044.unknown

